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g4z K % ouT IN GR HDCP NET e

BE WA X 44 | 43 | 87 | 11.0 | 76.0

£ WE =Fa 46 | 43 | 89 | 13.0 | 76.0
3 T Sg— 48 | 44 | 92 | 16.0 | 76.0
4 B FH 42 | 40 | 82 5.0 | 771.0
b HER #EXR 45 | 44 | 89 | 12.0 | 71.0
6 #E BR 53 | 50 | 103 | 25.0 | 78.0
1T A& &= 49 | 44 | 93  14.0 | 79.0
8 B —F 45 | 4 86 6.0 | 80.0
9 MH RE 43 | 47 | 90 | 10.0 | 80.0
10 |—15 StAl 41 40 | 81 0.0 | 81.0
11 [fR & 45 | 46 | 91 | 10.0 | 81.0
12 | F5 R®F 47 | 48 | 95  14.0 | 81.0
13 | = 44 | M 85 3.0 | 82.0
14 %A == 46 | 46 | 92  10.0 | 82.0
15 & EE 47 | 46 | 93  11.0 | 82.0
16 AR =E 46 | 51 97 | 15.0 | 82.0
[ AR o N 44 | 45 | 89 5.0 | 84.0
18 Bt 8= 44 | 47 | 91 1.0 | 84.0
19 &+ BC 50 | 45| 95 10.0 | 85.0
20 |[RKF A 49 | 50 | 99  12.0 | 87.0
21 #H FHH 50 | 56 | 106 A 15.0 | 91.0
22 {ERK EEW 63 | 56 | 119 | 21.0 | 98.0
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g4z K % ouT IN GR HDCP NET =
B HBHh #E 42 44 86 19.0 67.0
#E MR B= 50 45 95 24.0 7.0
3 |XKHE 42 40 82 10.0 72.0
4 MEeRK K 49 45 94 22.0 72.0
5 | K& =H 41 39 80 1.0 73.0
6 |FEFH IEFM 50 48 98 25.0 73.0
1T |FKX = 40 40 80 5.0 75.0
8 MR E— 44 38 82 1.0 75.0
9 il EA 43 43 86 11.0 75.0
10 |[fEAK =F 41 44 85 9.0 76.0
n |BXx %= 51 46 97 21.0 76.0
12 R Flz 42 35 71 0.0 71.0
13 |AT 1 42 41 83 6.0 71.0
14 | XKE HE 44 40 84 1.0 71.0
15 | KB AR 47 40 87 10.0 71.0
16 |HH RRZE 42 44 86 8.0 78.0
17 | g 47 45 92 14.0 78.0
18 =i =B 46 40 86 6.0 80.0
19 |#Lt 35hBH 52 40 92 9.0 83.0
20 |HME RKEB 50 45 95 6.0 89.0
21 | RE 52 51 103 14.0 89.0
22 |#Lt #H 60 51 111 21.0 90.0
23 |hF fBm— 59 53 112 21.0 91.0
24 |HhE EX 52 52 104 11.0 93.0
25 = BB 58 54 112 17.0 95.0
OPEN &K =¥ 43 38 81
Al 53 55 108
GUEST /h& g 44 42 86
iR =8I 43 46 89
S EhR 56 49 105
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